SCDOT USE ONLY					
Received:_	_				

## SCDOT Transportation Alternatives Set-Aside Program (TAP) Round 2: FFY 24 (October 1, 2023 – September 30, 2024) Letter of Intent Email completed form and all required attachments to BlinsonAL@scdot.org by October 13, 2023 at 4:00pm

Applicants may submit 1 project per round

Applicant:		
Contact Person and Title:	DOT and must be able to answer questions ab	oout the project)
Email:		Phone:
Type of Applicant:Local Governn	mentMPO/COGSchool/Distr	rictOther ()
Project Administrator:SCDOT	Applicant (attached Local Publi	ic Agency Qualifications Form for approval)
Project Title:		
Project Budget		
Total Project Cost	80% TAP Request*	20% Local Match**
\$	\$	\$
		to cover all match requirements if SCDOT funding
assistance is not provided. Awarded TAP It	unds must be obligated within 4 years of their	r program year, or the runus will lapse.
You must attach a detailed	, itemized licensed engineer's co	ost estimate. (Example attached)
<u> </u>	,	
Project Location: (street names, wh	nere the project begins and ends, and	d the linear feet)
(		
Also attach a detailed map highlight	ting the information above.	
, 5 5	5	
High-level description of the project	ct scope: (Responses must fit in the	spaces provided)
		,
1		

Need for the project:
Who the project will serve:
Project components requested (i.e., design, right-of-way (ROW) acquisition, construction):
Comment against whose (i.e., components all design POW consisting at a N. (Discount to be any explication of a second sec
<b>Current project phase (i.e., conceptual design, ROW acquisition, etc.): (</b> Please attach any preliminary engineering or other documentation that supports your project status)

**Proposed project timeline:** Identify the timeframe for each major project phase needed. Check the appropriate boxes for the quarter(s) during which the activity will take place (beginning to end).

		2024			2025			2026			2027						
Phase		1Q	2Q	ЗQ	4Q	1Q	2Q	ЗQ	4Q	1Q	2Q	ЗQ	4Q	1Q	2Q	ЗQ	4Q
	Example: Utilities			X	X	X											
1	Prelim Eng.																
2	Right of Way																
3	Utilities																
4	Construction																
5	Close-out																
6																	
7																	

Signature of Chief Elected or Administrative Official	Title
Printed Name	Date

If you have any questions, please call Amy Blinson, TAP Manager, at (803) 737-1952.

Late/incomplete forms will not be accepted.

## **Preliminary Estimate**



Estimate Date	9/11/2023					
Estimator	FALSE					
Bid Data						
From	То					
August-10	January-12					

<b>Bid Data</b>	Statewide
County	<u>EDGEFIELD</u>
Rd/Rt	US 25
File No.	
Proj. No.	

Construction Cost	\$238,669.96
PE and E & C	\$ 39,000.00
Other (R/W, Utilities, Misc.)	\$ 75,000.00
Total	\$ 352,669,96

Item					
Number	<u>Description</u>	<u>Unit</u>	Quantity	Price	<u>Amount</u>
1031000	MOBILIZATION	LS	1	\$5,500.00	\$5,500.00
1032010	BONDS AND INSURANCE	LS	1	\$3,000.00	\$3,000.00
1050800	CONSTRUCTION STAKES, LINES & GRADES	EA	1	\$4,000.00	\$4,000.00
1071000	TRAFFIC CONTROL	LS	1	\$5,200.00	\$5,200.00
2011000	CLEARING & GRUBBING WITHIN RIGHT OF WAY	LS	1	\$10,000.00	\$10,000.00
2031200	SITE EXCAVATION	LS	1	\$15,000.00	\$15,000.00
3069900	MAINTENANCE STONE	TON	50	\$57.53	\$2,876.43
6020005	PERMANENT CONSTRUCTION SIGNS (GROUND MOUNTE	SF	256	\$8.96	\$2,292.98
7142513	18" R. C. PIPE CUL. BEVELED END SECTN-CL 3	EA	1	\$650.00	\$650.00
7143618	18" SMOOTH WALL PIPE	LF	428	\$83.42	\$35,704.55
7143624	24" SMOOTH WALL PIPE	LF	292	\$115.19	\$33,634.42
7143636	36" SMOOTH WALL PIPE	LF	60	\$142.47	\$8,548.00
7192010	DROP INLET (24" X 24")	EA	3	\$2,608.33	\$7,825.00
7192020	DROP INLET (24" X 36")	EA	1	\$2,780.16	\$2,780.16
7192105	MANHOLE	EA	2	\$3,525.41	\$7,050.81
7204100	CONCRETE SIDEWALK(4" UNIFORM)	SY	683	\$72.03	\$49,196.49
7204900	DETECTABLE WARNING MATERIAL	SF	25	\$51.60	\$1,290.10
7205000	CONCRETE DRIVEWAY(6" UNIFORM)	SY	138	\$81.75	\$11,280.84
7209000	PEDESTRIAN RAMP CONSTRUCTION	SY	50	\$162.61	\$8,130.73
8041020	RIP-RAP (CLASS B)	TON	111	\$85.68	\$9,510.27
8048210	GEOTEXTILE FOR EROSION CONTROL UNDER RIPRAP(C	SY	141	\$4.50	\$635.02
8091010	RIGHT OF WAY MARKER(REBAR AND CAP)	EA	4	\$130.02	\$520.07
8091050	RIGHT OF WAY PLAT	LS	1	\$4,000.00	\$4,000.00
8100101	PERMANENT GRASSING FOR SMALL PROJECTS	ACRE	0.448	\$5,253.36	\$2,353.51
8151110	TEMPORARY EROSION CONTROL BLANKET (ECB)	MSY	0.889	\$1,781.51	\$1,583.76
8152004	INLET STRUCTURE FILTER - TYPE F (WEIGHTED)	LF	30	\$13.07	\$392.13
8152007	SEDIMENT TUBES FOR DITCH CHECKS	LF	100	\$10.17	\$1,017.12
8153000	SILT FENCE	LF	156	\$3.14	\$490.33
8156490	STABILIZED CONSTRUCTION ENTRANCE	SY	275	\$15.30	\$4,207.22

## **Sample Cost Estimate**

Please be sure to include PE costs, and others (r/w, utilties, etc.) as necessary